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() d. both b and ¢ are correct

() e.nonea of the above is correct

which of the following is considered a basic element of measurements

Q. meaasurand

b '-':l"l'l"-DE'ITElHJI

c. reference

c. il of the above ar

aone of tha abo
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! {{} a. more accurate result
Cl b. more precise result
.' fC} C. less accurate result

| O d.less precise result
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The accuracy of this micrometer i§ =======«-- mm.

Note: the number of divisions on the thimble is 50 divisions.
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systematic errors can be eliminated by taking a large number of readings and then
averaging them out.

of
select one:
U True
O False
16
If an inst -] wldl T i | :
qumentis it would give different results for the same dimension for the
1 fepeated readings.
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for a-shaft and hole system, given that the bosic s

size is equal to 30 mm, the minimum
clearance is equal to 0. mm, the upper deviation of the shaft is (minus 0.06) mm,

then lower deviation of the hole is 1'_+|:|1_|r_]| L ' i
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The reading of the following vernier

Note: the number of divisions

micrometer is ~—------=——_ mm.

on the thimble is 50 divisions.
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Which of the following is correct?

) a. for clearance fit the allowance is positive , for interference fit the allowance isnagh 3.
_.,,1

() b.a positive ullc}wmi:ce is either for ( clearance, or transaction ) fit.

©) c. a negative allowance is either for ( transaction, or interference) fit.

() d.a positive allowance means a clearance fit, and a negative allowance means Intarlemmﬂﬂt

@ e.only b and c are correct
- f. allof (a, b, and c ) are correct g

) g.none of the above is correct

Clear my choice
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tor a shaft and hole system, given that the basic size is equal to 30 mm, the minimum
clearance is equal to 0.l mm, the lower deviation of the hole is equal to 0.06 mm, the
tolerance of the hole is equal to 0.1 mm,

then the higher limit of the hole is - mm.

ire lower limit
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O b. avoidable error

O c. reading error
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(‘_} d. calibration error 3
-,.0 e. both a and b are correct
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The GO Gauge Is used to check the maximum metal limit, wh
Gauge is used to check the minimum metal limit '

Select one: N |
O True
) False
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i:f e may be defined as the mean of the infinite number of measured values when the ©

deulutinn due to the various contributing factors tends to zero.

O a. the measured value

O b. the true value

O c.the reference value
| ﬂ d. the deviated vnlue
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il the higher limit of a hole is equal to 40.40 mm , and its lower deviation is 0.04 mm, and the

basic size is equal to 40.30 mm,

then the tolerance of the hole is -- mim
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the reading of the following vernier bevel protractor

a. 51 degree and 30 minutes

D, 52 degree and 30 minutes
c. 63 degree and 30 minutes

i d. 63 degree and 51 minutes




The reading or the following depth micrometer is

Note: the number of divisions on the thimble is 50 divisions.
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Which ol the following is correct?

a. lor clearance (it the allowance is positive , for interferance fit the allowanca I5 nagative.

0. a posit e aliowonca is aither 1or |- Clearancs L Or transaction ) it
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---—-- may be defined as the mean of the infinite number of measured values when the
average deviation dua to the various contributing foctors tan:
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2 Lallof (g b, and ¢ ) are correct

L . none of the above is cormect

In 0 shait and hole system, if the maximum metal limit for a shalt is 25.05 mm and the lower

meatal limit for the shaft is 25.00 mm. the maximum metal imit of the hole is 24.95 mm. and

the minimum matal limit of the hola s 25.02
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this type of arror may occur dua to Improper use, r'~..;_|r|.;1,|_|--,!.:.]_ or selection

of tha instrurmeant.
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the devlce in the following figure follows Abbes's principle
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. Minimum systematic error means

() a. more accurate result

() b. more precise result
() c¢. less accurate result
) d. less precise result

~ e. none of the above is correct




U b. repeatability

,' Time left
O c.accuracy B

(0 d. both a and b are corract

L) e.none of the above is correct

tor a shoft and hole system, given that the basic size Is equal to 25 mm. the minimum
clearance is equal to 0.1 mm, the lower deviation of the hole is equal to 0.03 mm

then the higher limit of the shaft is mm

R = 5w
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tor a shaft and hole system, given that the basic size is equal to 30 mm, the minimum
clearance is equal to 0.l mm, the lower deviation of the hole is equal to 0.06 mm, the
tolerance of the hole is equal to 0.1 mm,

then the higher limit of the hole is - mm.

ire lower limit
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a. 51 degree and 30 minutes
b. 52 degree and 30 minutes
c. 63 degree and 30 minutes

d. 63 degree and 51 minutes



Systematic errors can be eliminated by taking a large
then averoging them out
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may be defined as the mean of the infinite number o
values when the average deviation due to the various contrib fi

to zero. uting

) a.the measured value
) b. the true value

() c. the reference value
() d. the deviated value
() e. the bias

- f. none of the above is correct
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when using thermocouples, the relationship between temperature and voltage is linear,

3

Select one:
O True

O False
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- O a.measurand

the above is correct
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There are basically two approaches for measuring the surface
roughness is : (1) the comparison, (2) the direct measurements. the
former is the simpler but the second is the more accurate.

f

Select one:
True

O False

givery the following Table for an (S) Type thermocouple

-
TABLE 15 Type S Thermocouple — thermoelecinc voltage as 8 function of bn“
temperature ( 'C); reference junctons at 0 T
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Question | i i i i 1
A, Calibration of the measuring device can help in reducing the the random error occurs during
, Not yet measurements.
5 answered
X Marked out of Select one:
. | 200
. O True
| ¥ Fiog
question U False
Question 2
_ In a shaft and hole system, the tolerance of the hole is always greater than the tolerance of
Nat yat
By the shaft.
Select one:
O True

C) False
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There are basically two approaches for measuring the surface rﬂughnaﬁs s |
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the tolerance of any shaft is equal to the difference between its upper deviation and its lower deviation,
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